prepp

Practice, Learn and Achieve
Your Goal with Prepp

NDA Exam

Study Material for Maths

Simplifying
Government Exams

@ ssc cHsL _% IAS EXAM RRB NTPC 2 cps
& cBseuce NET | (i7 1BPS PO | 77 NDA

© ssiro | 17 1BPS CLERK é—AFCAT

@ CSIRUGC NET | & CAPF | (i7 1BPSRRB



https://prepp.in/
https://prepp.in/ssc-chsl-exam
https://prepp.in/ias-exam-exam
https://prepp.in/rrb-ntpc-exam
https://prepp.in/ntse-exam
https://prepp.in/cds-exam
https://prepp.in/ssc-cgl-exam
https://prepp.in/cbse-ugc-net-exam
https://prepp.in/ibps-po-exam
https://prepp.in/nda-exam
https://prepp.in/sbi-po-exam
https://prepp.in/ibps-clerk-exam
https://prepp.in/afcat-exam
https://prepp.in/ssc-je-exam
https://prepp.in/ctet-exam
https://prepp.in/csir-ugc-net-exam
https://prepp.in/upsc-capf-exam
https://prepp.in/ibps-rrb-exam

LOGARITHMS

A logarithm of a number with a base is equal to another number. A logarithm is just the
opposite function of exponentiation. For example, if 10% = 100 then log,, 100 = 2.
e Hence, we can conclude that,

Log,x=n or b"=x
Where b is the base of the logarithmic function.

® A logarithm is defined as the power to which number must be raised to get some other
values. It is the most convenient way to express large numbers. A logarithm has various
important properties that prove multiplication and division of logarithms can also be written
in the form of logarithm of addition and subtraction.

e The logarithm of a positive real number a with respect to base b, a positive real number not
equal to 1™ is the exponent by which b must be raised to yield a.

i.e b'=aand it is read as “the logarithm of a to base b.”

e In other words, the logarithm gives the answer to the question “How many times a number
is multiplied to get the other number?”.

Example: How many 3’s are multiplied to get the answer 27?

If we multiply 3 for 3 times, we get the answer 27.

Therefore, the logarithm is 3.

The logarithm form is written as follows:

Log; (27) =3 ....(1)

Therefore, the base 3 logarithm of 27 is 3.

The above logarithm form can also be written as:

3x3x3 =27

33=27....(2)

Thus, the equations (1) and (2) both represent the same meaning.

Logarithm Types
In most cases, we always deal with two different types of logarithms, namely

e Common Logarithm

e Natural Logarithm

Common Logarithm

The common logarithm is also called the base 10 logarithms. It is represented as log10 or simply log.
For example, the common logarithm of 1000 is written as a log (1000). The common logarithm
defines how many times we have to multiply the number 10, to get the required output.

For example, log (100) = 2

If we multiply the number 10 twice, we get the result 100.
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Natural Logarithm

The natural logarithm is called the base e logarithm. The natural logarithm is represented as In or
loge. Here, “e” represents the Euler’s constant which is approximately equal to 2.71828. For
example, the natural logarithm of 78 is written as In 78. The natural logarithm defines how many we

have to multiply “e” to get the required output.
For example, In (78) = 4.357.

Thus, the base e logarithm of 78 is equal to 4.357.

Logarithm Rules and Properties

There are certain rules based on which logarithmic operations can be performed. The names of
these rules are:

Product rule

Division rule

Power rule/Exponential Rule
Change of base rule

Base switch rule

Derivative of log

Integral of log

Let us have a look at each of these properties one by one

Product Rule

In this rule, the multiplication of two logarithmic values is equal to the addition of their individual
logarithms.

Log, (mn)=log, m + log, n

For example: log; ( 2y ) = log;(2) + log; (y)

Division Rule
The division of two logarithmic values is equal to the difference of each logarithm.
Log, (m/n)=log, m—log, n

For example, log;(2/y ) = log;(2) -logs (y)

Exponential Rule

In the exponential rule, the logarithm of m with a rational exponent is equal to the exponent times
its logarithm.

Log, (m") =n log, m

For example: log,(2°%) = 3 log, 2
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Change of Base Rule
Log,m =log,m/ log, b
For example: log, 2 = log,2/log, b

Base Switch Rule

log,(a) =1/ log, (b)
For example: log, 8 = 1/logg b

Derivative of log

If f (x) = logy, (x), then the derivative of f(x) is given by;
f'(x) = 1/(x In(b))

For example: Given, f (x) = log,, (x)

Then, f'(x) = 1/(x In(10))

Integral of Log
Jlog,(x)dx = x( log,(x) = 1/In(b) ) + C
Example: ) log,o(x) dx =x - (logs(x) —1/1In(10) ) + C

Other Properties

Some other properties of logarithmic functions are:
e log,b=1
e log,1=0
e Log, 0=undefined
Logarithmic Formulas
log,(mn) = log,(m) + log,(n)
log,(m/n) = log, (m) — log, (n)
Log, (xy) =y logy(x)
Log,mn = log, n/m
m logy(x) + n log,(y) = log,(x™y")
log,(m+n) = log, m + log,(1+nm)

log,(m —n) =log, m + log, (1-n/m)
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Solved Examples
Question 1: Solve log , (64) =?
Solution:

since 2°=2x2x 2 x2x2x2=64,6is the exponent value and log , (64)= 6.

Question 2: What is the value of log,,(100)?

Solution: In this case, 10 *yields you 100. So, 2 is the exponent value, and the value of log,,(100) = 2

Question 3: Use of the property of logarithms, solve for the value of x for log; x= log; 4+ log, 7
Solution: By the addition rule, log; 4+ log; 7=log (4 * 7)
Log ;( 28 ). Thus, x= 28.

Question 4: Solve for xinlog ,x=5
Solution: This logarithmic function can be written In the exponential form as 2 >= x

Therefore, 2°=2x2x2x2x2 =32, X=32.

Logarithmic Function Definition

The logarithmic function is defined as an inverse function to exponentiation. The logarithmic
function is stated as follows

For x, a >0, and a#1,

y=log.x, if x=a¥

Then the logarithmic function is written as:
f(x) = log, x

The most common bases used in logarithmic functions are base e and base 10. The log function
with base 10 is called the common logarithmic function and it is denoted by log,, or simply log.

f(x) = logy,
The log function to the base e is called the natural logarithmic function and it is denoted by log,
f(x) = log, x

To find the logarithm of a number, we can use the logarithm table instead of using a mere
calculation. Before finding the logarithm of a number, we should know about the characteristic part
and mantissa part of a given number:
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e Characteristic Part — The whole part of a number is called the characteristic part. The
characteristic of any number greater than one is positive, and if it is one less than the
number of digits to the left of the decimal point in a given number. If the number is less than
one, the characteristic is negative and is one more than the number of zeros to the right of
the decimal point.

e Mantissa Part — The decimal part of the logarithm number is said to be the mantissa part
and it should always be a positive value. If the mantissa part is in a negative value, then
convert into the positive value.
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44 | 6435 | 6444 | 6454 | 6464 | 6474 | 6484 | 6493 | 6503 | 6513 | 6522 | 1 2 3|4 5 6|7 8 9
45 | 6532 | 6542 | 6551 | 6561 | 6571 | 6580 | 6500 | 6599 | 6609 | 6608 | 1 2 3|4 5 6|7 & 9
46 | 6628 | 6637 | 6646 | 6656 | 6665 | 6675 | 6684 | 6693 | 6702 | 6712 | 1 2 3|4 5 6|7 T B
47 | 6721 | 6730 | 6739 | 6749 | 6758 | 6767 | 6776 | 6785 | 6794 | 6803 | 1 2 3|4 5 5|6 T B
48 | 6812 | 6821 | 6830 | 6839 | 6B4E | 6857 | 6B66 | 6875 | 6884 | 6893 | 1 2 3|4 4 5|6 T B
49 | 6901 | 6911 | 6920 | 928 | 6937 | 6946 | 6955 | 6964 | 6972 | 6981 1 2 3|4 4 5|6 7 8
50 | 6990 | 6998 | TOOT | 7016 | 7024 | 7033 | 7042 | 7050 | 059 | Te67 | 1 2 3|3 4 5|6 T B

How to Use the Log Table?

The procedure is given below to find the log value of a number using the log table. First, you have to
know how to use the log table. The log table is given for the reference to find the values.

Step 1: Understand the concept of the logarithm. Each log table is only usable with a certain base.
The most common type of logarithm table is used is log base 10.

Step 2: Identify the characteristic part and mantissa part of the given number. For example, if you
want to find the value of log,, (15.27), first separate the characteristic part and the mantissa part.

Characteristic Part = 15

Mantissa part = 27
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Step 3: Use a common log table. Now, use row number 15 and check column number 2 and write
the corresponding value. So the value obtained is 1818.

Step 4: Use the logarithm table with a mean difference. Slide your finger in the mean difference
column number 7 and row number 15, and write down the corresponding value as 20.

15.27

v

Mean Difference
NI O | 112 |3 |4|5|6|[7]|8]|9T [1]2][3[4a[5]6
13 [ 1139 | 1173 | 1206 | 1239 | 1271 | 1303 | 1335 | 1367 | 1399 | 1430 6 |10 (13|16 |19 23
14 | 1431 | 1492 | 1523 | 1553 | 1584 [ 1614 | 1644 | 1673 | 1703 | 1732 | 3 | 6 | 9 |12|15|18 [ 2]]
an 1790 | 1818 | 1847 | 1875 | 1903 | 1931 | 1959 | 1987 | 2014 | 3 |6 [ 8 |11 (14 16 20)
16 | 2041 | 2068 | 2005 | 2122 | 2148 | 2175 | 2201 | 2227 | 2253 | 2279 | 3 | 5 | 8 [11]13]16] 7 |
17 | 2304 | 2330 | 2355 | 2380 | 2405 | 2430 | 2455 | 2480 | 2504 | 2520 [ 2 |5 (7 |9 (12| 6 |7

Step 5: Add both the values obtained in step 3 and step 4. That is 1818+20= 1838. Therefore, the

value 1838 is the mantissa part.

15.27

Row 15 + column 2

1818 + 20
= 1838
A

Mantissa

Row 15 + column 7

Step 6: Find the characteristic part. Since the number lies between 10 and 100, (10* and 10?), the

characteristic part should be 1.

Step 7: Finally combine both the characteristic part and the mantissa part, it becomes 1.1838.

10
A

15

\/
100

Characteristic

log1015.27 =1.1838

(10") <€ Characteristic

(107)

Mantissa
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Example: Find the value of log,, 2.872

Solution:

Step 1: Characteristic Part= 2 and mantissa part= 872

Step 2: Check the row number 28 and column number 7. So the value obtained is 4579.

Step 3: Check the mean difference value for row number 28 and mean difference column 2. The
value corresponding to the row and column is 3

Step 4: Add the values obtained in step 2 and 3, we get 4582. This is the mantissa part.

Step 5: Since the number of digits to the left side of the decimal part is 1, the characteristic part is
less than 1. So, the characteristic partis O

Step 6: Finally combine the characteristic part and the mantissa part. So, it becomes 0.4582.

Therefore, the value of log 2.872 is 0.4582.
Logarithmic Differentiation

Logarithmic differentiation is a method to find the derivatives of some complicated functions, using
logarithms. There are cases in which differentiating the logarithm of a given function is simpler as
compared to differentiating the function itself. By the proper usage of properties of logarithms
and chain rule finding, the derivatives become easy. This concept is applicable to nearly all the
non-zero functions which are differentiable in nature.

Therefore, in calculus, the differentiation of some complex functions is done by taking logarithms
and then the logarithmic derivative is utilized to solve such a function.
Logarithmic Differentiation Formula

The equations which take the form y = f(x) = [u(x)]"™ can be easily solved using the concept of
logarithmic differentiation. The formula for log differentiation of a function is given by;

d/dx(x*) = x*(1+In x)

For differentiating functions of this type we take on both the sides of the given equation.
Therefore, taking log on both sides we get,log y = log[u(x)]"*"

log y = v(x)log u(x)

Now, differentiating both the sides w.r.t. x by implementing chain rule, we get

1% =v(z) X o5 x u(z) + log u(z) x V()
= 2 =ylle) x iy x w(z) +logu(@) x ¥ ()

The only constraint for using logarithmic differentiation rules is that f(x) and u(x) must be positive as
logarithmic functions are only defined for positive values.

The basic properties of real logarithms are generally applicable to the logarithmic derivatives.
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For example: (log uv)’ = (log u + log v)’ = (log u)’ + (log v)’

Method to Solve Logarithm Functions

Follow the steps given here to solve find the differentiation of logarithm functions.

e Find the natural log of the function first which is needed to be differentiated.

e Now by the means of properties of logarithmic functions, distribute the terms that were
originally gathered together in the original function and were difficult to differentiate.

¢ Now differentiate the equation which was resulted.
e At last, multiply the available equation by the function itself to get the required derivative.

Now, as we are thorough with logarithmic differentiation rules let us take some logarithmic
differentiation examples to know a little bit more about this.

Example: Find the value of dy/dx if,[latex]y = er{x"{4}}[/latex]
Solution: Given the function [latex]y = eA{x*{4}}[/latex]

Taking natural logarithm of both the sides we get,

Iny=1Ine*

Iny=x*Ine

Iny=x*

Now, differentiating both the sides w.r.t we get,

[latex]\frac{1 Xy} \frac{dyHdx}[/latex] = [latex]4x"3 [/latex]

[latex] \Rightarrow \frac{dy}{dx}[/latex] =[latex] y.4x"3[/latex]
[latex]\Rightarrow \frac{dyH{dx}[/latex] =[latex] eA{x*{4}}x4x"3[/latex]

Therefore, we see how easy and simple it becomes to differentiate a function using logarithmic
differentiation rules.

Example: Find the value of [latex]\frac{dy}{dx}[/latex] if y = 2x{*®,

Solution: Given the function y = 2xs*

Taking logarithm of both the sides, we get

log y = log(2x!®**)

[latex]\Rightarrow log y = log 2 + log x*{cos x} \\(As\ log(mn) = log m + log n)[/latex]
[latex]\Rightarrow log y = log 2 + cos x x log x \\(As\ log m”*n =n log m)[/latex]

Now, differentiating both the sides w.r.t by using the chain rule we get,

[latex]\frac{1 Xy} \frac{dyHdx} = \frac{cos x}{x} — (sin x)(log x)[/latex]
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Log and Ln Definition

Log: In Maths, the logarithm is the inverse function of exponentiation. In simpler words, the
logarithm is defined as a power to which a number must be raised in order to get some other
number. It is also called the logarithm of base 10, or common logarithm. The general form of a

logarithm is given as:
log, (y) = x
The above-given form is written as:

a‘=y

Rules of Logarithm

There are four major rules or properties of the logarithm.

e Log, (mn)=log, m+log,n
e Log, (m/n)=log, m—log,n
e Log,(m")=nlog, m

e Log.m=log,m/log, b

Ln: Ln is called the natural logarithm. It is also called the logarithm of the base e. Here, e is a

number which is an irrational

and transcendental

number and is approximately equal

t0 2.718281828459... The natural logarithm (In) is represented as In x or log, x

Key Differences Between Log and Ln

Log

Ln

Log refers to a logarithm to the base 10

Ln refers to a logarithm to the base e

This is also called as a common logarithm

This is also called as a natural logarithm

The common log is represented as log;, (x)

The natural log is represented as log, (x)

The exponent form of the common logarithm is
10" =y

The exponent form of the natural logarithm is
e =y

The interrogative statement for the common
logarithm is “At which number should we raise
10 to get y?”

The interrogative statement for the natural
logarithm is “At which number should we raise
Euler’s constant number to get y?”

It is more widely used in physics when
compared to In

As logarithms are usually taken to the base in
physics, In is used much lesser

Mathematically, it is represented as log base 10

Mathematically, this is represented as log base e
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Antilog Table

The Antilog which is also known as “Anti- Logarithms”, of a number is the inverse technique of
finding the logarithm of the same number. Consider, if x is the logarithm of a number y with base b,
then we can say y is the antilog of x to the base b. It is defined by

Iflog,y=x Then, y = antilog x

Both logarithm and antilog have their base as 2.7183. If the logarithm and antilogarithm are having
their base 10, that should be converted into natural logarithm and antilog by multiplying it by 2.303.

How to Calculate Antilog?

Before finding the antilog of a number, we should know about the parts like the characteristic and
mantissa part.

e Characteristic Part — The whole part is called the characteristic part. If the characteristic of
logarithm of any number greater than one is positive and is one less than the number of
digits in the left side of the decimal point.

® Mantissa Part — The decimal part of the logarithm number for a given number is called the
mantissa part, and it should always be a positive value. If the mantissa part is in a negative
value, convert into the positive value.

Procedure to Find the Antilog of a Number

Method 1: Using an Antilog Table
Consider a number, 2.6452

Step 1: Separate the characteristic part and the mantissa part. From the given example, the
characteristic part is 2, and the mantissa part is 6452.

Step 2: To find a corresponding value of the mantissa part uses the antilog table. Using the antilog
table, find the corresponding value. Now, find the row number that starts with .64, then the column
for 5. Now, you get the corresponding value as 4416.

Step 3: From mean difference columns find the value. Again use the same row number .64 and find
the value for column 2. Now, the value corresponding to this is 2.

Step 4: Add the values obtained in step 2 and 3, we get 4416 + 2 = 4418.

Step 5: Now insert the decimal point. The decimal point always goes the designated place. For this,
you have to add 1 to the characteristic value. Now you get 3. Then add the decimal point after 3
digits, we get 441.8

So, the antilog value of 2.6452 is 441.8.

Method 2: Antilog Calculation

Step 1: Separate the characteristic part and the mantissa part. From the above example given, the
characteristic part is 2, and the mantissa part is 6452.
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Step 2: Know the base. For numerical computations, the base is always 10. Therefore for computing
the antilog use base 10.

Step 3: Calculate the 10%. X is the number which you are using. If the mantissa of the number is 0,
then the computation is easy. Calculate the value 10%%**%. Use a calculator to find the value. Finally,
it comes 441.7

Both methods will give the same result.

Common Antilog Table

Below table helps to find the values of Characteristic Part and Mantissa Part of the number.
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COMMON ANTILOGARITH TABLE

0 1 2 3 4 s 3 7 ] 9 Mean difference
1 2 3|4 5 6|7 8 9
00 1009 1014 | 1026 | 1019 J oz [ 0 0o 1f1 1 1|2 2 2
01 1033 1038 | 1040 | 1042 | 1045 | @ 0o 1)1 1 1|2 2 2
02 1057 we2 | 1064 [ 1067 | 069 | © 0o 1J1 1 1|2 2 2
03 1681 1086 | 1089 | 1090 | 1084 | 0 0 1)1 1 1|2 2 2
04 1107 mz | e | mr e o 1 1)1 1 2]2 2 2
05 132 me | neo | na3 | s o o1 1 o1 2|2 2 2
06 1159 nmea | ne7 | new | n2 f o 1 11 1 202 2 2
07 1186 191 1194 197 1199 o 1 1]y 1 212 2 2
08 1213 219 | 122 | 1225 122 o 1 1)1 1 2|2 2 3
09 1242 1247 1250 1253 1256 o 1 1|1 1 212 2 3
10 1271 | 1274 | 1276 | 129 | 1282 | 1235 J 0 1 1|1 1 2|2 2 3
an 1300 1303 1306 1309 o 1 11 2 212 2 3
1 1330 | 1334 | 1337 | 1340 o 1 1|2 2 2|2 2 3
a3 1361 | 1365 | wes | 1am o 1 1|1 2 2|2 3 3
a4 1393 | 1396 | 1400 | 1403 o 1 1|1 2 212 3 3
a5 1426 | 1420 | 1432 | 1435 e 1 1|1 2 2|2 3 3
16 1459 1466 | 1469 o 1 1] 2 2|2 3 3
7 1486 1493 1500 | 1503 o 1 1|1 2 212 3 3
s 1521 1528 1535 | 1538 e 1 1|1 2 2]2 3 3
9 1556 1563 1570 | 1574 QS S o o Ve b - e e
20 1592 1600 1607 | 1611 81 gy UETIErs 3 3
21 1629 1637 1644 | 1648 ® 1 L1j2 2 243 3 3
E-] 1667 1675 1683 | 1687 e 1 1]2 2 23 3 3
2 1706 1714 22 1726 o 1 12 2 213 3 4
24 1746 1754 ez | 1766 o 1 1]z 2 2]3 3 4
2s 1786 1795 1803 1507 o 1 1]2 2 2/|3 3 4
1528 1537 1845 | 1849 o 1 1]l2 2 3|3 3 «
% 1871 1579 1588 | 1892 e 1 1]l2 2 3|3 3 4
28 1914 1923 1932 | 1906 o 1 1]z 2 3|3 4 s
2 1959 1968 w77 | 19m2 o 1 1]2 2 3|3 4 &
30 2004 2014 2023 | 2008 o 1 1|2 2 3|3 4 4
31 2051 2061 2065 2070 | 2075 2080 2084 o 1 112 2 313 4 4
32 2099 2000 |23 J2us | 2123 | 2028 | 2033 J o 1 12 2 3|3 & 4
33 2148 2nss |26 | ne | 2m |2 |2 o 1 12 2 3|3 4 4
34 2198 208 | 2213 | 2218 | 2223 | 2228 | 2234 |1 1 202 3 3|4 & s
EH] 2244 | 2240 | 2254 | 2259 | 2265 | 2270 | 2295 | 220 | 286 |1 1 2|2 3 3|4 & s
36|22 | 2296 | 3o | 2307 | 232 | 2317 | 33 | 228 | w33 |29 |1 1 2|2 3 3]4 4 5
37 | 2344 | 2350 | 2355 2366 | 2n1 | 2377 | 2382 | 2ss | 293 |1 1 2|2 3 3]4 4 s
38 |299 | 2904 | 2000 | 2005 | 24 | 2027 | 2432 | 2008 | 2443 J249 |10 1 2]2 3 3|4 4 5
39 | 2458 2460 2466 247 2477 2483 2489 2495 2500 2506 Py 2|2 3 3]s 5 S
40 |2si2 | 2518 | 2523 | 2529 | 2535 [ 2541 | 2547 | 2553 | 2358 | 2564 | 0 1 202 3 4)4 5 5
At 2570 | 2576 | 2582 | 2sss | 2904 | 2600 | 2606 | 2612 | 2608 | 2624 | 1 1 2|2 3 4f4 5 5
a2 2630 | 2636 | 2602 | 2609 | 2655 | 2661 | 2667 | 2673 | 2679 1 2685 10 1 212 3 ala s «
a3 | 2692 | 2698 | 2704 | 2710 | 2706 | 2723 | 22y | 23S | 2742 | 2748 | 1 1 2|3 3 4|4 5 6
a4 l235a | 2761 | 2767 | 2773 | 2780 | 2786 | 2793 | 2799 | 2805 | 282 | 1 1 2|3 3 4|4 S5 6
As 2818 | 2205 | 2801 | 2m08 | 28e4 | 2881 | 2mss | 2864 | 287 | 2877 | 1 1 2|3 3 435 5 6
a6 | 2884 | 2891 | 2897 | 2000 | 2om | 2917 | 2924 | 20m | 2938 | 2944 | 1 1 2|3 3 435 5 6
a7 2951 | 2958 | 2965 | 2972 | 2979 | 2985 | 2992 | 2999 | 3006 [z | 1 1 2|3 3 4]s s 6
48 |3020 | 3027 | 3034 | 3041 | so4s | 30ss | 3062 | soee | 3076 |3os3 | 1 1 2|3 4 4ls 6 6
49 | 3090 | 3097 | 3105 | 32 | 3 |26 | 333 | an | a8 | 3ass | 10 0 2|3 4 45 6 6
so 362 | 3170 | 3177 | 3use | 3192 | 3099 | 3206 | 324 | 3221 | 3228 | 1 1 2|3 4 4|5 6 7
51 |3236 | 3243 | 3251 | 3258 | 3266 | 3273 | 3280 | 3289 | 3296 [ 3304 | 1 2 2|3 4 s)|s 6 7
s2 |3 | 339 | 3327 | 3334 | 3342 | 3350 | 3357 | 3365 | 3373 | 33m1 1 2 2|3 & s|s 6 7
53 | 3388 | 3396 | 3404 | 3412 | 3420 | 3428 3443 | 3451 | 3489 | 1 2 2|3 4 sle & 7
54 | 3467 | 3475 | 3483 | 3481 | 3499 asi6 | 3s24 | 3532 | 3se0 2 2|3 & s|le & 7
55 | 3sax | 3sse | 3ses | 3573 | 3sm A 306 | 3614 | 3622 | 1 2 2|3 4 sle 7 7
s6 | 3631 | 3639 | 3648 | 3656 | 3664 3681 | 3690 | sees | 3707 2 3|3 4 s|le 7 3
37 |3ns | 3724 | 313 | 374 | 3730 3767 | 3776 | 3784 | 3793 2 3|3 & s|le 7 =
58 | 302 | 3z | 3smie 3837 3sss | 3ses | 3873 | 3sm2 2 3|a & s|l6 7 s
59 | 3890 | 3899 | 3908 | 3917 | 3926 3945 | 3ose | 3963 | o7 2 3|4 5 s|le 7 3
o0 | 3981 | 3990 | 3999 | ooy | sors 4036 | 4046 | 40ss | 4064 2 3|4 5 6|6 7 3
61 | 4074 | 4083 | 4093 | are2 | an 4130 | 4140 | s1s0 Ja1s9s | 1 2 3|4 5 s]7 s 9
62 |a169 | a178 | 41ss | <198 | 4207 4227 | 4236 | 4246 | 4256 | 1 2 3|4 5 |7 3 9
63 | 4266 | 4276 | 4285 | 4295 | ws0s 4325 | 4335 | 4345 |aass |1 2 3|4 5 s]7 8 9
44 Jases | as7s | anss | aves | ss0s 426 | 4436 | 4446 | w457 | 1 2 3|4 s )7 s 9
65 | 4467 | 4477 | as7 | 4a9m | asos 4529 | 4539 | ass0 | ase0 |1 2 3|4 5 &7 = 9
66 asm | asmi | aso2 | asox | asin 4634 | asas | sese 2 3|4 5 6|7 0
67 | 4677 | 4ess | 4699 | 470 | a7 ara2 | 4753 | a7es 2 3|ea 5 7]s 0
68 |a786 | 4797 | asos | amis | <xm axs3 | asse | ax7s 2 3|la 5 7|3 s w0
69 |avox | 4909 | 4920 | a932 | avan 4966 | 4977 | 49ss 2 3|4 5 7|8 5 10
70 | so12 | se2s | soas | sosa7 | soss sos2 | s093 | sies |37 |0 2 3|4 s 7|8 9 m
a1 | size | sie0 | sis2 5176 5200 | smz | sxa 1 2 4|s & 7|3 wmn
A 5297 5321 | 5333 | s3a6 | sass |0 2 4|5 6 7|% 0 m
BTN | D0 | 06 3a20 S445 | sass | s470 1 3 als 6 s|% o
74 | se9s | ssom | ssai 5346 s572 | sses | ssom |ser0 |1 3 a5 & 3|5 1o 12
75 | se23 | se36 | sedo | seez | 5675 | sese | s702 sl |1 3 als 7 8|9 w12
76 | 5754 | 5768 | stm1 | s7ea | ssos | sen | ss3a ses |1 3 4ls 7 sl n o2
77 |ssxs | soa2 | sone | se2e | seas | sesy | seve 2 |1 3 als 7 slw n 2
78 | 026 | 6039 o067 | eos1 | 6095 | 6109 sis2 |1 3 4|6 7 8 n o3
; c1s0 | 6194 | 6200 | e223 | 6237 | e252 &9 |1 3 4|6 7 9 nois
6324 6353 | e36s | s3s3 | e397 2 |1 3 ale 7 9 1213
= 6471 | oe36 | eso1 | esie | 531 | ases 62 |2 3 sls 8 sln 12 14
B2 6622 a7 6653 Ll 6653 | 6699 6745 2 3 sl & Slm 12 14
23 6776 | 6792 | esos | es23 | o839 | esss w2 | 2 3 sle 5 o|ln 13 14
24 934 o966 | eos2 | ev9s | 7015 063 | 2 3 sle s w0l 13 as
85 7096 | iz | 1120 | 7ias | ier | mivs 7228 | 2 3 s |7 s o]z 13 as
86 7261 7278 T8 T 7328 7348 TIN6 2 3 5 7 s w2 a3
87 T44T Ta64 Ta%2 T4 7516 7568 2 3 5 T ° w12 e ::
o 7603 | 7621 | 7638 | 7es6 | 7674 | 763 5 | 2 4 5]7 9 njfiz 4 6
o 7780 | 7798 | e | 7ma4 | 7ms2 s |2 4 5]7 9 uln 4 e
S0 762 7980 017 8035 S0S4 e 2 4 6 7 ® njfm oas az
o 147 B166 sI8S 8204 222 w241
- 5337 | 56 | s375 | 395 | 3414 | ma3n o2 |2 4 H
3 ss31 | sssi | ss70 | ssso 10 | ses0 29 | 2 4 6|8 10 12
! o 8750 | s770 | s790 | smi0 | =x3; 382 | 2 4 6|8 1 12
L ®974 2995 016 2099 2 L 6 L] w0 a2
56 2141 9162 9183 9204 9226 9247 231 2 - 6
- —AE A A stlz34iagleck
Bl 9572 9594 9616 9638 9661 PEE3 9750 2 “ 7 ® M 13lié 1z 20
9 9795 | 9817 | omeo | omes | osse | 9sos 977 |2 5 7|5 u ] 15 20

Example: Find the antilog of 3.3010

Solution:

Given, antilog (3.3010)

Step 1: Characteristics part = 3 and mantissa part = 3010

Step 2: Use the antilog table for the row.30, then the column for 1, you get 2000.

Step 3: Find the value from the mean difference column for the row .30 and column 0, it gives the
value 0
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Step 4: Add the values obtained in step 2 and 3, 2000 + 0 = 2000.

Step 5: Now insert the decimal place. We know that the characteristic part is 3 and we have to add
it with 1. Therefore, we get the value 4. Insert the decimal point after 4 places, and we get 2000.

Therefore, the solution of the antilog 3.3010 is 2000.

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click





https://www.facebook.com/prepp.in.exams/
https://www.instagram.com/prepp_in/
https://twitter.com/prepp_in
https://in.pinterest.com/prepp_in/
https://www.youtube.com/channel/UC5lbyL9e2Nxqev5_kWtZCwg
https://t.me/Govt_Jobs_PREPP
https://prepp.in/
https://prepp.in/government-jobs-2021-news

